Penthouse in Birkirkara



Reference No: 240351001-58375

Birkirkara, Central



€362,000

Total Rooms: 6

Bathrooms: 2

Floor Area (m²): 160

Bedrooms: 3

Penthouse - For Sale - Birkirkara

B"KARA - New on the Market, is this amazing 3 bedroom Penthouse in a very good location to live in or even invest as a rental property. Consisting of a large open plan kitchen living dining, on a 10 meter facade, guest bathroom, main bedroom with en-suite and another 2 bedrooms and at the back a nice balcony measuring circa 8sqm. Finished including bathrooms and doors. Call agent today for an appointment for a site visit and plans explanation. Optional 1 or 2 car garages also available.

Features

✓ Lift

Ceramic Floor

En Suite

Terrace

✓ Balcony

Rooms

Kitchen/Living/Dining: 9.5 x 3.6 m (34.2 m2)

✓ Bathroom Ensuite : 2.08 x 1.8 m (3.74 m2)

Single Bedroom: 3.4 x 3.1 m (10.54 m2)

Single Bedroom: 4.4 x 3.9 m (17.16 m2)

✓ Single Bedroom : 2.4 x 4.1 m (9.84 m2)

✓ Bathroom : 2 x 2.6 m (5.2 m2)

Gallery

































RE/MAX Malta - BDV Sales RE/MAX Malta - BDV

M: 22471300

E: bdv@remax.com.mt

T: 22471300

RE/MAX Malta - BDV

29, Realco Building, Level 1, ,Achille Ferris Street , Msida, Malta